Wave 2- Level 2 Quantitative Drill Down Analysis Work Product Example

This figure provides an example of a quantitative drill down analysis - level 2 work product for
Wave 2 resulting from performing detailed activity "1.1.2 (b) Prepare quantitative drill down —
level 2". Reporting entities should prepare this work product to summarize and report the
annual dollar activity resulting from each assessable sub-unit identified on their process drill

down analysis.
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S Activity | % | SActivity | % | SActivity | % | SActivity | % | SActivity | % | $Activity | %
Budgetary Resources 2008 Balances
Unobligated balance, brought forward, October 1 s - - 0% - 0% - 0% - 0% - 0% - 0%
Recoveries of prior year unpaid obligations ] 3,000,000 £60,000  22% 150,000 = 1,080,000 " 36% 480,000 " 18% 420,000 14% 209999 7%
Budget authority
Appropriation - = - 0% - 0% - 0% - 0% - 0% - 0%
Borrowing authority 3 - - 0% - 0% - 0% - 0% - 0% - 0%
Spending autherity from offsetting collections
Earned
Caollected 3 - - 0% - 0% - 0% - 0% - 0% - 0%
Change in receivables from Federal sources 3 = - 0% - 0% - 0% - 0% - 0% - 0%
Change in unfilled customer orders
Advance received 3 - - 0% - 0% - 0% - 0% - 0% - 0%
Without advance from Federal sources $ - - 0% - 0% - 0% - 0% - 0% - 0%
Subtotal s =
r p iture tr , net, anticip and actual $ - - 0% - D% - 0% - 0% - 0% - D%
Permanently not available 3 - - 0% - 0% - 0% - 0% - 0% - 0%
Total Budgetary Resources $ 3,000,000 660,000 22% 150,000 “5% 1,080,000 36% _ 480,000  16% 420000  14% 209,999 7%
Status of Budgetary Resources
|Obligations incurred: . . . . .
Direct ] 140,000,000 8,800,000 22% 2000000 5% 144000000 36% 6400000 16% 5600000 14% 2,800,000 7%
Reimbursable E ,000.0 L760.000__22% f 00 " 36% 1.280,000  16% 1.120.000 14% 560,000 7%
Subtotal $ 0,000 9 17,280,000 36% 7,680,000 16% 6,720,000 14% 3,360,000 7%
|Unobligated balance:
Apportioned 3 - - 0% - 0% - 0% - 0%
Exempt from apportionment ] - =L 0% - 0% - 0% - 0%
Subtotal s - - - - -
Unobligated balance not available 3 - - 0% - 0% 0% 0% - 0% - 0%
Total Status of Budgetary Resources 3 48,000,000 10,560,000 "22% 2,400,000 5% 17,280,000 " 36% 7,680,000 T 18% 6,720,000 " 14% 3,360,000 7%
Change in Obligated Balance
Cbligated balance, net
Unpaid obligations, brought forward, October 1 3 - - 0% - 0% - 0% - 0% - 0% - 0%
Less: Uncollected customer payments from Federal
sources, brought forward, October 1 5 - - 0% - 0% - 0% - 0% - 0% - 0%
Total unpaid obligated balance $ = - 0% - 0% 0% 0% - 0% - 0%
Obligations incurred net (+/-) s 48,000,000 10,580,000 [ 22% 2,400,000 [ 5% 17,280,000 [ 38% 7,880,000 I 18% 8,720,000 i 14% 3,380,000 7%
Less: Gross outlays - (40,000,000)  (8,800,000) 22% (2,000,000) 5% (14,400,000) 36% (6,400,000) 16% (5,600,000) 14% (2,800,000) 7%
Ohbligated balance transferred, net 3 = = 0% - 0% - 0% - 0% = 0% - 0%
Less: Recoveries of prior year unpaid obligations, actu $ (3,000,000) 860,000 r-22% 150,000 '-S'DG 1,080,000 '-36% 480,000 v-16% 420,000 r-14% 209,999 -T%
Change in uncollected customer payments from Federal
sources (+-) 3 - - 0% - 0% - 0% - 0% - 0% - 0%
|Obligated balance, net, end of period
Unpaid obligations 40,000,000 8,800,000 22% 2,000,000 " 5% 14,400,000 " 36% 6,400,000 " 16% 5.600.000 " 14% 2,800,000 7%
Less: Uncollected customer payments from Federal
Sources 3 - - 0% - 0% 0% 0% - 0% - 0%
Total, unpaid cbligated balance, net, end of period 3 40,000,000 8,800,000 22% 2,000,000 5% 14,400,000 36% 6,400,000 16% 5,600,000 14% 2,800,000 7%
Net Outlays
Gross outlays ] 40,000,000 8,800,000 " 229 2,000,000 = 14,400,000 " 3% 6,400,000 " 18% 5,600,000 " 14% 2,800,000 7%
Less: Offsetting collections - = - 0% - 0% - 0% - 0% - 0% - 0%
Less: Distributed offsetting receipts 5 - - 0% - 0% - 0% - 0% - 0% - 0%
Net outlays $ 40,000,000 8,800,000 " 22% 2,000,000 5% 14,400,000  36% 6,400,000  16% 5,600,000  14% 2,800,000 7%
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